i‘,{ Roll No____ SSC-(P-)- A/2024 Paper Code | 5 1 9 1
(For All Sessions)
Mathematics (Science Group) ; - 5
(Objective) it Fy (/0 L
Time: 20 Minutes (Group-l) B Marks : 15

el LA Jrui 4 d¥diz W e ..,vf‘f A& eD sl CcB:AuLI?,f/bLJIr/gf /Q(dw‘,/u@,,wLumr(v Wy
_J)/:_.JI/JU’L//A/L./b,nlv‘:_u‘u;/l:LDLC BA

Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fil the corresponding circle A, B, C or D given in front of each question with Marker or Pen mk om’ne answer sheet provided.
1.1 l‘{? (/)5 is called ..... matrix. -:.ruu’.)u .._-f [‘/_ 0 ] 1.1
(A) Zero § (B) Unit Bies (©) Scalar A° QD) Singular st
2. Write 43/2 with radical sign . ST IV-C VL 4322
® Va2 ®) I ©) J# O -8
3. The relation x = log,y implies T e Pxx = logey Ji 3
(A 5=y ® =y O, a4 ‘ @@ y =z o
4. @3 —b3isequalto S N e b 4
(A)  (a+b) (a®+ab +b?) B (- b) ( 6 bz) ﬁ
© (a+b)@—ab+b?® .~ (D (a— ab+b2) B
5. Factorsof 3x% — x — 2 are Q dﬂ,mzin -x-2 5 (\:
A (x+1),GBx-2) () (x = 1) (3x =), (3x - 2) O x-1),6x+2) Fﬂ
6. HCF. ofx—Zandx A+x—6is___ e H"!;Wx +x—6ux =204 B C
W -2 e —6" @+3) & 0 (x+2) w
7. x=__Isa solutior)*ofthe ine AR % . -QJJMV»«J’L 2<x< _,m//x =__ &
® 57, 0 © 3 () ;
8. If(x,0) = (0,), then (x ) is . e A(x,y)in(x,0) = (0,)./1 8
(A) 0,1) (B) (1.. 0) (o (0,0) D) (1.1
9. Distance between the points (1, 0):and (0, Dyis_ A e deblen¥(0,1)m(1,0)08 9
(A) 1 (B) AN () 0 D) V2
10. Total parfs of a triangle are: s\ i f ek A0
(A) 6 ® 2 (C) 4 (D) 5
11.  In a paralielogram diagonals intersect each other in the ratio: ~ _ x2 /7 Pl S pnlinl g M
(A 1:4 (B) 1:1 (©) 2:1 (D) 1:3
12.  The symbol used for perpendicular is: e el Lo A2
(A) = (B) o © 1 (D) =
13, " ~ " symbol is used for: e dnditesst ~ " 3
(A similars?f  (B) Congruent S () Equal 1. (D)  Perpendicular »»*
14.  Medians of a triangle are: it lake 14
(A) 1 (B) 3 ©) 2 (D) 4
15.  The right bisectors of the three sides of a triangle are: b LLwely#F Leds 15
(A Congruent S+  (B) Collinear &4 (C)  Concurrent &5 (D) Paralle! 15
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2. Write short answers of any six parts from the following: (2x6=12) [/ 'aglkﬁ?é.tzt‘ggéfu:;b@a 2
. Find the determinant of matrix: A= ﬁ (1) e
i. ~ Simplify: = x2y-1g~4\ 7 o Y
x4y~ig0 Fa
iii.  Write conjugate of the numbers: §—7i 5(‘"" wSgy i
. Write into sum or difference: l . ” /C / y Jﬁ Ja/tz_ s L r"m" ‘:iv
v.  Define logarithm. N W fi&l /TJ'};?,J N "»j
vi.  Simplify: L) (y3LL) Rwravy
plfy (n/i+‘/5)(\/-2_§ ) . ;_f,v‘."_
Wil = 2~ 3, find = N wa =2.= 3/ i
vii.  Factorize: Pt - 132 . N\ i wlyg i
ix.  Factorize: Iz 64y S A\ AT
3. Write short answers of any six parts from the followmg P . 6% u/ j._,w,v‘ Lf‘f]lic'_-éf‘j."}}bu 3
L Find the L.C.M: - 3027y @5@?2 T b
i, Solve: PN @ A0l =6 . L
. Solve: | _ 1’%* AN Ly i
W. fo‘?,ﬁ 216* varl’t:ii r?and c bv expressmg itinghe 4 f/r,w(fw&c,,fma/ My =mx +clen AV
V. Verify whether the point (2, 5) lies ¢ :@ ire 2x 4 {)\k.l =0ornot | 4 2x — v+ 1= 00025 BUbigds v
vi.  Using the distance formula find thé distance \ “A3,4),B(4,2) W i LGy ides M
between the paints. 1 N
vil.  Find the midpoint between: ;) b bune L6 i
vii. What do you mean by S.A.S postulate? Ced e orr¥ P f il
ix. Define parallelogram. LS i
4. Write short answers of any six pats from the following: (2x6=12) WS f bz .{.,:zl‘gc_éf‘;d,}zw 4
i.  Define bisector of line segment. v flanl B
il. 116 cm, 6 cm, and 8 cm are the lengths of a Lo Sy S iuns 8T g CUSt L et (i
triangle, then verify that sum of measure of two sides ? L Jun( T g (Jéf R y
of triangle is greater than the third side. e bntre QT e A s b S
fii. 1A LMN shown in the figure MN||PQ if L Ji -« MN|[PQULMN 26 L Fs, i
mLM = Scin, mLP = 2.5cm, mLQ = e - I = 5¢
2.3 cm then find mLN. umELP -i cmrT_ = 5cm
P—a -E o USMING«mLQ = 2.3 cm
R
P.T.0.




V.

vi.

Vil

— Pt —>+¢

Verify the given sides @ = Sem, b = 12cm,c = 13em e = 13emeb = 12cmea = Scmud§Ptwn sgEgs v
make right angled triangle. - ST
Y PR Y
Find the unknown value of x in figure. N e
17
9
X
Define altitude or height of a triangle. o A let M
Find the area of given figure: o £ " Lok ihpds i
S5cm

Define orthocenter. . 4’ o /}J //d, o) gy Vil
Construct a triangle XYZ in which: mYZ 7. 6 cm mXY 6 1 em and mex = 90°. hs‘ﬂ, XYz el X

34

\ i
Section-ll | (8x3=24) . \ r), o
T, N
Attempt any three questions ir ali wmteQNoels compulsory: ‘ i X e B 27 /:c_d“ 2L el Jf
Solve by matrix inversion method i m_ x4y = | L %@ ES ey Lok ()5
= —-4 @ % i -

4x 4 By
‘bf/%‘ (=)

Simplifys. LN

g
xV0.056

U}séJog 1abies to\f‘mq the value of: ;
N % (388)*

:J_I“:L"cJ:c,u JJW”H/W (=) 6

IfSx — 6y 12 then fnd the valu = 216)13 _J‘fr,l,;éngzsx3 _ 216})3;)75;( -6y = 12/" (=)
I (x — 1)1is a faclor ofx Y 11x — 6, then find the A ~ka? +11x =66, 7 x - ) ()7
value of k ",',.:..}:, 5 -u./r:h’c»&f s
Find the value of k for whim\éxp_r,essfon will dx* —12x3 —37x% -2 x + k 2w ey, padfk )
become a perfect square: -~ ’ " . -
Solve the given equations: e % - (x _ g) e ; g::’r)".'{u"b’uibv () 8
ConstructAABC and draw the bisectors of their angles. S il gt ABCeE (<)
mAB = 45cm, mBC = 3.1cm, mCA = 5.2 cm miAB = 456, mBC = 3.1cm, mCA = 5.2 ¢m
Prove that right bisectors of the sides of a triangle are concurrent. adx ﬁf&bd;!ébﬁ"l&&ﬁ(fr 7 9
OR "

Prove that triangles on the same base and of the same (i.e I mun b L uunlhub Lz @Sy et
equal) altitudes are equal in area. : - * - -

-lfuﬁ/.'/.
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Note: Write Answers to the Questions on the objective answer sheet provided. Four possible answers A, B, C and D to each question are given. Which
answer you consider correct, fill the corresponding circle A, B, C or D given in front of each question with Marker or Pen ink on the answer sheet provided.

11 What will be added to complete the square of 9a® — 12ab? Ly SV Lint pJ89a? — 12ab 11
(A) ~16b? (B) 16b* (C) 4b%.7 D) —4b?
2. The square rootof a® — 2a + 1: ' «  Yhuka?-2a+1 2
®  ta+n @) ta-1) (O (@=1) (o) (@+1)
3. x = 0is a solution of the inequality____. -%J/J{;g(_)’é___aw Adx=0 3
0 x>0 ‘B  3x+5<0 [0 x+2<0 O x-2<0
4. fy=2x+1,x=_2thenyis: T Cayiny=2x+1 =2/ 4
0 5 ® 2 © 4 o 9 |
5. Aftriangle having sides equal is called: TR q_gm(,y.j LiyE Ly el 5
() IsoscelescAigs (B)  Scalene i . (C) Equilateral L:&@ D' None of these & /= ute
6. H.S = H.S Postulate is used for only ___ triangles. “ CLLote  apeln=U’-n
(A)  Acuteangled simb  (B) ~ Rightangled /7 (C) %w d_125 (D) Noneofthese u /=ity
7. One exterior angle formed-on producing one side of a J:;uﬁ b e LS G LS T
parallelogram is 40 “then its interior angles are: - : d’uxq/iﬁ* Supibnlin
(A} 1401407140740 (B)  40°,40°40, 105" (C) 140°,120°,40°,40° (D)  40°,40,140",140°
8. Right angle means angle measure: PGSR e gitionsl ot 1276 8
) 90° 307 7 () 180° (0) 60°
9. Oneand only one line can be rough ____._ points. -905@7@:‘/5_{:4/”«4:,‘/3@___ 9
® 3 ®) e (©) 4 ) 5
10. Median of a tn'angle'diyides itinto_._friangles of equal area. P /(-‘ LU b bl A0
(A) 2 B 3 ) 4 D) 6
1. If two medians of a triangle are congruent then the triangle will be: N n___wuiu,qf t?{,w,w&.u‘»u{lﬁ M
(A)  Rightangled s/1=7  (B) Equilateral eeuigss (C) Isosceles AU (D)  Acute angled..s1/is
12, The order of B % g] is e 2 [; ? 3].‘)0' A2
A 2by3 (8) 3by?2 (C) 2by2 (D) aby3
-1 -1
e @
3 9 9 4
(A) 3 (B) i (€) 3 ) 3
14, logg=____ loga = A4
(A) a B 0 (C) 1 ) -1
5. 3-V3)(3+V3)=_____ (3-V3)(3+V3)=___ 15
(A) 3 (B) 6 (€ 12 (D) 6
223-09-A
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SECTION- sl 2
5 Write short answers of any six parts from the following: (2x6=12) 1 fshz Langeldfodion 2
i, Find the values of ‘¢’ and 'd' if: c=2 32 1.1 3 . AN i
(57 wasdl=ls 2l e dfdaiesss

i.  Give a rational number between % and % _z-__,l;.md*»‘fgguw[,%m %}Uﬂ i

iii.  Simplify the radical expression: J_g . é,_fJ ju» F (tv(fulf Phi i
iv. Evaluate: Log, ég . : L - V:(,f)"r",-w o v
v. Caloulate: Logs2 X Log,81 | o el v

; 392, _ O g ‘ sy .
¥, Evaluate’—‘—)i_z—lifor: x=-1,y=-92=4% ﬁqf[f}vy_’f 1222 i

vii.  Simplify: ' (\/5 +\[§)2 j <(§/® A‘ R o S ﬁ; Vil
vii  Factorize: ’.144(12 + 240 +1 @ T 56 5 viil

. Use the remainder theorem to find the remainder when 5x° — 12x2 +g@ By — 12x% +2 ér:"’d‘ e sadi X

;W‘/(x 3) M11x =5

3. Write short answers of any six parts from the follo m@ ;2"6’12 Tl iz Lange i dditn 3

< _ :
7)’37 and 91x5y°z’ :u;/r}”(u kU

5 ig divided by (x — 3).

i. Find the H.C.F of the expreSsmn

i. Solve forx: 7 Bx = 5= 4 e Lx &
iii.  Solve ihe equation: %x B lx 1 % S r S i
. 3
iv.  Draw the graph of the equation: ’ | x= -6 S S v
v.  Find the value of m and c of the lines gxpressingin - 2% =38y = 1 r b A (oama LS by =mase y
theformofy = mx + ¢
vi. Find the distance between the pair of points .~ 4(9,2),B(7,2) _qfr}")-dwyn.&u,mg wdses M
vii. Find midpoint of the line segment joining pairs A(-9,3),B(7.3) e o Bl s He L Susr LBt i
of points: / ) ) :
vii  Define congruent triangles. o fJuﬁ»‘th? ™
ix. Define parallelogram. LS X
4 Write short answers of any six parts from the following: (2x6=12) A W/ 4/'.4',’/4‘-"" L,rimc,df Vlies A
i Where the right bisectors of the sides of an obtuse triangle sl /C‘z” AT J, g Ll ks
intersect each other? ’
i Can the given set of lengths be the lengths of 2cm, 4cm, 7cm gwsﬂz wuy’ﬂd&? i
the sides of a triangle?
iii,  Define proportion. ﬂ St i
P.T.C.




-

. ‘ W2 = ; .
V. Find unknown value of x: ~ e ddxper WV
8cm
4 N\
- 2cm
v.  Ifa=9¢cm, b = 12cm, ¢ = 15cm then verify that the S S dinc = 15emeb = 12ema = 9em /i Y
triangle having these measures of sides is right angled. o
gzl sl 76
vi.  Whatis triangular region? i Ce bl Sl
vii.  Find the area: e 7 _ Sppes,
/ 5cm
viii Define point of concurrency? o - I A Vil
ix.  Construct a triangle XYZ in which: ~ mYZ = 7.6 cm, mXV = 6.1 cmand mzx = 90° ™ NN AT
Sectionl g 1 (8x3=24) e
Note: Attempt any three questions in al! white Q.No 9 is compulsory: - » h @ A f ezlativE S i
5(a) Solve by using Cramer's rule: - 2x — 3y. =5 '0 {& © T ‘:éd’bjj‘;djgi/{‘/f () 5
. i 4x — zy = '_1 % =
(b) ~ Simpliy: B O EOME - g )
_ (9)3 i
6(a) Use logfithm to find the value of: 0@ 364 . ypredendf gl ()6
() fx+y+z=14andx® +y?+z° = ﬁd e xy+yz Hnx? +y P +20 =Thox +y+2 =140 ()
valueof xy + yz + zx o I i ¢
' A eddzx
7(a) Factorize: iyt —yt=2y—1 A ()T
(b)  Find the value of K for which the given =4 10 - ke + 9wl SR AT A LAY (o)
expression will become a perfect square: / . ; pe
8(a) Solve the folowing equations: l3 - le 12 Eobord ()8
' 4 3 3
(b) CorEt_ructAPQR and dla_w their altitudes. ﬁé_{(wl,), F LS bPQREE ()
mPQ = 4.5¢cm, mQR = 3.9cm, mLR = 45 mPg = 4.5cm, m@ =129cm, meR =45
9 Prove that “The right bisectors of the sides of  triangle are concurrent’. Sl By Lol Sed 9
OR y
Prove that “iriangles on the same base and of same (i.¢ equal) A Smsa LA LatunChysbsLia iy S et
altitudes are equal in area’. ’ ’ ) i
-"J st
224-09-A
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L/dfrwzquu 7 s T ARV B DA AR fp'ﬁcé:dh’/éf{_dﬁélﬁ'd}:/"L?If)-:«(_,‘ﬁ).':;;:am:‘r‘/:‘b.;’

A Sl SRS e Py 362 e s LD | CB AT &
NOTE: Write answers to the questions on ohjective answer sheet provided. Four possible answer A,B,C & D fo each
question are given. Which answer you consider correct, fill the correspanding circle A, B,C or D given in front of each
question with Marker or pen link on the answer sheet provided.

1. The degree of Polynomial 4x*+2x?y is__: ;4‘_13’, TS ity
(A 1 | 2 €3 (D) 4

2. Factors of 8x3+27y* are : ' eI — B2y 2
(A) (2x+3y)(4x>+9y?) (B) (2x-3y)(4x>-8y?) (C) (2+3y)(4x3-Gxy+9y%) (D) (2x-3y)(4x*+Gxy19y?)

3. The square root of a2-2a+1is______: e G2 @220 3
(A) Xa+1) B) a-1 (C) Ha-1) (D) a+1

" gg?l;eyent mvo.Ivmg any of the symboi <>, <or> e duf. _-_~_L‘752yw~ggf,_¢;<.>-sgz ool 4
(A) inequality =i\ # (B) equation il
(©) identity rernd Lad nf 2 rabia s (D) linear equation =il Gl

5. If(x-1y+1) = (0,0) then (xy) is ; S Pr(x=-1y+1)=(00).1 .5
A) (1-1) ® .9 € 1.9 <%(D) (1,-9)

6. Mid Point of the Points (2,-2) and (-2,2) is: @_M}vulf (2,-2) o(-2,2)ht6 B
A 2,2) (B) (-2-2) ™ (.9

7. The Symbol used for correspondence is___: Zﬁ;éﬂd@i.:/ﬂqij_é"_(‘jf.:,;{“-/ )
A ———r (B) %5 €) = D) =

e, PO chx P Sty .%@ SYE AT T PN
(A 2 € 4 ©) 1

o, The right bisector of the sideslolah obtuse triangle e dtilif s st LN L i 3
intersect each other. angle: i)
(A) Inside s (8) Base i« (C) Hypotenuse 75 (D) Outside 4L

10. grt:’s: pt;i:gg::ss;r:s s;r:\;Tn the measure of their L st L L T s 5 0
(A) Equal 4~ (B) Different & - (C) Proportional .-t> (D) Large <

11. Area of given figureis____: A gk ; """" -2 P .41
(A) 18cm? (B) 32cm? (C) - 16cm? (D) 36cm?

12. ::‘?:ge:.; ?;ﬁ-tidicif- :triangle are congruent, then the sl St UE L :«l;".{l S
(A) equilateral {uspisL (B) rightangled ,i/1:46
() isosceles AU~ (D) acute angled /s

13. ‘f ji is called Matrix : B [‘/— 0] 13
@ Zerod)' ®) Scalar A¢ © Uit vt (@) Singular

~1

14.( ) ; _ =G§)T 14
@ 3 ' ® © 3 o 3

15. The Iogan‘thr? of any number fo itself as base is te bt 2T s IS A g (3;( DL s u’rfl 15
F— (8) 0 ) -1 (D) 10

217-09-53% ¥ 62760
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RO" No. g__/f”",{,/.)f Group—l-»(ur

Mathematlcs (Science Group) {Essay Type) le V’ﬂ 4/. 22 () (-«:/ Wad®. Uﬁg

Nzl Time:2:10 Hours £2:10:5) 60 3/5‘;
Section-I 2x18=36 Jit
2 Write short answers of any six parts from the following ~ 2x6=12 I f R S Langedfediditn.?
i.  Define rectangular mafrix. : oy Al edE
i i 1 07,0 27,1 1 1 0},0 21,1 1 s i
simpiry. g 1)+[3 ol+l1 ol L+l o+h o o
iii. Evaluate i¥ ez ;;f SAf
iv.  Simplify (-7+3i)(-3+2i) and write the answer in the /-ﬁu"L}ﬁJ a+bi § (-7+30)(-3+2i) A
form a+bi :
v. Express 0.00000000395 in sclentmc notation. 2 S 7 5571.40.00000000395 -V
vi. Evaluate log,3 X log;8 log,3 x logs8- E_s_fr,L, v i
_vii.  Simplify. 2975 Y AL
V125 -
viii. Rationalize the denominator. 1 @ £ e il
3425 @ &t/ )
ix. . Factorize. x*-11x-42 @ )AAx-42 Zyf X

3 Write short answers of any six parts from the following < @2 . 5 / Y 2 "]'/7‘:'()5(4:-—-(}” Fions3
i, Use factorization to find the square root . %5@1 S Lol :
| @ i flegof W

@ 4x —103 <21x - 18 ey ’.ﬁi
G flesnzy

S s S4B Y

&n points with the U(O 2), V(-3,0) s f 74 JtbL6 £ e Sir o s Vi

ii.  Define linear Equation.
ii.  Solve the inequality.

iv.  Define order pair.

v.  Draw the point (4,-5) on the

vii  Find the distance between
help of distance formula.

vi. ~ What is parallelogram. \ P At Vi

viii. What do you mean by congruency of friangles. , el f Ludu” vm

ix.  Inthe given paralielogram, find the value :f o e [ N ML XA Ihf
4m+n 10

L gm-4an M



" o)

4. Write short answers of any six parts from the following  2x6=12 -/, F ez Lazg e et itn

i.

ii.

" What is meant by bisection of an angle?

2cm, 4orn and 7cm are not the lengths of the

triangle. Give the reason.

vi.

vii,

vili.

iX.

Note:

5.(a)
(b)

Define Congruent Triangles.

Find the unknown X.

Verify that the A having the followmg measures el ), Al S S S NPy Stun L et

of sides is right angled.
a=5cm, b=12cm, c=13cm

_ Define Rectangular Region.

; Sl A, e s
el St ugt/&buméwf Zemsdom 2cm
N
oS
Sl Expt Ay
VZem '
lcni

a=5cm, b=12cm, c=13cm

Y ST

Find the area.

-(j./rll"ﬁj v

3cm

-

6cm @

Construct a A ABC, in which. mAB = 3cr, mAC = 3.2¢1 450 LSS AABC Y
Define Incentre. gﬁ SIS PSS pdsibads

Saction-1

Salve by using matix inversiol

Simplify.

Using logarithm to firelth Valm, of.

If ¢ = /5 + 2 find the value of ¢* - =

%@24 r”’,n)

Attempt three questions in all while ﬁﬁ compulsory: (59 Ay Bl ].;w&.:,wruf“ S

Ax+2y=8,3x-y=-1 S sl Ludi @)
(81).35—(3)*"~1(243) v
(921)(33) -bf/ /‘i (b)
(1.23)(0.6975) ls . 3 5 g
(0.0075)(1278) S L §F X (@)

—dfri”w’u(q —;‘2— jn q=\5+24 ©

Find the value of K for which expressuon -3+ Ok H9_ 28 p S M St = d UK (a)

will become a perfect square.

Factarize Polynomial by factor theorem.

Solve.

Construct the A ABC and draw the
bisectors of the angles.

. Prove that if any point equidistance from 2 s 5 sinsfsr Lo $sl» = /L».-h’o’r By

3-6x2+3x+10 sfenlsil ©
I S e A

x¥2-1. x+1  x+1

MJtLUJ’J‘J}J’J[/ AABC (b)
mAB = 4.2cm ,mBC = 6cm mCA = 5.2cm

the end points of a line segment is on the - ‘
right bisector of it. OR L dw.,wtduf

Prove that triangles on the same base and ,JJUU}t/l/C,{uJI‘C_UIJ,]u ,45., 40466 (5L ;qu‘Lﬂ Syl et

of same altitude are equal in area.

donans

218-09-S-62760 -
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Marks:15 * Time:20 Minutcs Group - I -0/ 22015 - 5,

CB, Al L At W2t e TS 22 2 s 1,3, A Ml L 2l Qs iz L Ly s s

34 c—{ﬁkt{gﬁ&/ A a0 e P I E Dk
NOTE: Write answers to the questions on objective answer shect provided. four possible answers AB,C & D to each question are give, which answer
you consider correct, fill the corresponding circle A,B,C or D given in front of each question with marker or pen ink on ibe answer sheet provided.

1. (\/;+‘\/b—)(\/;—\/z)isequalto: ! -4‘:.1.11.(\/;+Vr5)(\/;—\/5) 1

W g2y p? ®) g% -p? © a-p @ g+p

2. The factors of X ~5x+6 are: . A3l X —5x4+6 2
@ x+Lx-6 (B x—=2,x-3 @ x+6,x-1 (D) x+2,x+3

3. HCFofx*~5x+6and ¥’ —x—6 is: e —x =6 x 5546 3
W x-3 ® x+2 © x4 D x-2

4. A statement involving any of the symbols <, >, <or > ..(a(}lhﬁé._'b(jg:/l!ﬂ,gtjf ah<, > L2 u!;Jf 4
iscalled:
(A)  Equation e (B)  Identity stewrpl o d 15 2l
(C)  Inequality whils (D) Linearequation gﬁt;w»{

@(x,y)?n(x~l, y+ 1) = (0,0)/; 5

5. lf(x—l, y+1) =(0,0),then (x, y) is: %@.
o (-1,-1)

W 0-) @ (L) © (1@?@;
6. Distance between points (0, 0) and 1, 1) is: %5 ~gm kbl (1, 1) 1 (0,0) 565 6
@ o ®) 2 YN Y

7. Arayhas____ endpoints. A -u.?'Z_nz_ / L2 7
@ o ®) 1 © 9 D 3

8. Each diagonal of a parallelogram bis 0___ congruent triangles. - ‘..t‘/ (‘.-j LU J W edipsliemgnz g
A 1 (®) © 3 M 4

9. Corresponding angles of similar triangles are: L sid_slis SeL g A59
@ Eqal S B Unequl JEF (O Collinear B¢ (D) Parallel i )

10.  Theright bisectors of sides of a triangle are: sl S L ot [_.-;‘.Ji(f( .10

(A) Proportional .t5  (B) Perpendicular 5+ (C) Concurrent L& (D) Collinear BT

1. Theregion enclosed by the bounding lines ofa _4l-t‘Uv,f (N 55 TR Lt P e L i S S S s 11
closed figureiscalled___ ofthe figure.
(A)  Perimeter bbi (B) Area . (C) Union oy (D)  Altitude {45

12. Oneangle on the base of an isosceles triangle is 30° . Se e S sisd I 30° f:l/'».{l/:;xl?[.&«ﬁ'cﬁ? Uidls 12

What is the measure of its vertical angle.?

A 3¢° ®) ¢0° @ o9¢° D 120°
13.  The order of matrix [2 l] is: _c‘_g»b’[Z l].,)l? 13
@ 2-by-1 ®) 1-by-2 © 1-by-1 ® 2-by-2-
4. QN Ve Y
32 3 3 2 3
W L w ¥ © X ® 32
9 9 8 8
15.  The logarithm of unity to any base is: ~e-bstslsd f’ /(Jb’"l"4dbl(fr .15
@ 1 ®) 10 © e ® o |
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S.8.C - (Part-[)-A-2022

Roll No. PRI | A7 (Wor All Sessions)
Mathematies (Bcienca Group) o (Essay Type  2L1) ‘ {.ﬁn,xf; __IS';‘L»'}MT‘):?%,,.A
Marks:60 : Time: 2:10 Hours Growp - I - o) BA0:101 .55, st
Section-} R G 2,318 itz
2. Write short Answers of any six patts from the following: 2x6=12 ‘2.;’;4, /2 EANES /"’ py; l;gg.,‘jf atfor) 5 2
i. Define Transpose of a Matrix. : _.’{_-’:.__é_/ /7 J. iy ),e;.J 17 i
1 1 t ¢ L1
. - % — s — vss by i — o8
ii. It‘B—[2 OJ,thenvenfythat (B') =B v_ (B) —-B,f::ijw:‘B 2 0 i i
iti. Use laws of exponents to simplify. . (23‘5)’.4 ) (“837 2yt ) ..2._’.3: PRI BT P RS R
iv. Simplify and write your answer in the form a + bi "(—3 + 5i) = (4 + 9f) LA LS arbi v
v. Find the value of X log 64=2 »-?.,i"rﬁj’_"-..’-‘-»g(j X v
vi. Iflog2=0.3010, then find the value oft log32 g edilog2=0.3010/1 i
2.3 4 2.3 4
X'y -5z X'y’ =5z "
vii, Evaluate X 22 x=4, y=-2, z=-1 R it . 2;’-:4(}"&:«:3 vii
xyz xyz
15 b o
viii. Rationalize the denominator. "m @ el ST R i
2 2
g © .,
ix. Factorize. 7)—2-—- 24 b O ..2{5'_57‘:’ ix
O \ - », <
3. Write short Answers of any six parts from the following: @ Ry Fai K.C—F'Z'lgﬁ—-dﬁ‘ Lo 30 3
i. Find the square root by factorization. @ Z12x+9 -’-1.‘3-'7“5‘“'(:’; AiniSf ik i
ii. What is meant by strict inequalities? @ . Sl plf )it b i
iii. Solve: © Bx-5|=4 A
iv. Draw (-6,4) on graph paper. 2 by, [J/ S-6,4) v
9 . .. o 9
v. I F=2C+32" and C 230 then find 4. EFFJC=50"m F==C+32° )1
: 5
vi. Findthe midpoint between (-5,-7) and (~7-5). - Wi s -T75) 1 (52T i
vii. Find the distance between 4(-8, 1) and (6, 1). et Mgl L BG6, Dot A(-8,1) i
viii. Find the value of "m" for the given congruent triangles. -Eg’gr}" A5 " m" c_.u;ﬁ' S .'L?'éf g Lviii
B 3m3 D ¢ .
ix. Define Parallelogram. . .."—Z_"-:\_é! /.’. Jf_}U«”'ﬂleﬂP‘ Lix
4. Write short Answers of any six parts from the following: ~ 2x6=12 ..2;{4 /" s:«&l_ﬁ/é? Loz 'rg(—’-é[ Lok 38ons 4
i. CDis right bisector of the line segment 53§ AB 13,5 CD ! Sl
AB.1f mAB = 6cm, Find the value of smAL 3 mAB = 6cm flz‘;
mAL and mLB e mLB -
ii. Give reason why Scm, 10cm, 15cm are not the sides ur UQQJJCM Lak15cm 110cm Sem S S G0 i
of triangle.
iii. Tn ALMN shown in the figure MN || PQ if L L LMN s 8 he i
mLM =5cm, mLQ =23cm, . o mLM =5cm Jie_MN || PQ
mLP =2.5cm then find mLN FmLP=25cm mLQ =23cm
M N . i mIN



Vi,

vii.

viii.

5.()

8.(a)

Y

| Ruwp-4322 |,
In given right angled triangle find the value of X fom _éf.:"r;b’.-_-,f xfads =% (3" 17

v
Iem
Define Pythagoras Theorem. » _2{..4 /;" J & WL v
Find area of given triangle. 12cm -Z.{r;"",}'ﬁé.,f’-&( Uy i
— igom
What are congruent area axiom. 5o S i
Construct a AA4BC when: mAB = 3.2cm, mBC = 4.2¢cm, mCA=5.2cm 1 £zt ABC &L viii
Define Similar Triangles. -2:;..:-} ¥ Juﬁi"'/._,lf; Jix
Section-il 8x3=24 (9.5
Woie: attemipt three questions in all while Q:No.9 is comapulsery. S0Py B2, F cMn Ly of Fiasd
Solve the given system of linear equations by the 3x-2y=-6 X Ll css§U™ Luds ()5
matrix inversion method. _ 5x-2y=-10 '-affr,‘” B=1te y sl
4 81)".3° —(3)""" (243 . e
By using laws of exponents simplify. ( ) (92"()(;) ( ) -é/ﬂcu Jef1d L s (&)
(1 .23)(0.6975) @ e d s 5 ) (U
8 i to I . N - - ).
Use logarithm to find the value of: (0.0075)(1278) @ Zedradaoull K (e
it P:Z-I-\/:;,thenﬁndihevalueof P"-—;z Oé& ?’{fr;'"‘ciJPz —}1—._; ;'P=2+_\/§/rl )
Faciorize cubic polynomial by factor theorem. 3@3%5 10x 48 ..:»f;d f 9 J.?(:;’ 12 G i (f Y /? 2 ()T
Find the value of "/ " and "m" for which x“ 7053 +109x% +Ix—m (/’2{(:"’:—2 "mta"l" (L)
expression will become a peifect s -é_l‘vuid /4_}" (-.QJZ %
5 X~ 3 = [3
Fiad the solution sei of giv Lé——) -x=] -—-92 ..’Z;r:"" ey V:/l:lxur $ (.8
Consiuctthe AABC . Draw the mAB = 2.4cm, mAC = 3.2cm, m<A=120° Ly 2 ABC &b (o)
perpendicuiar bisectors of its sides. -’é;‘z’r Bt osf LU
Prove that any point equidistant from the end points of a 13 a8 1033 e Lol Soln s J:LS;EUJ Jﬁmg)‘l .9
line segment is on the right bisector of it. ..2; .:/;E:fn/__,._i'td:f
OR iy

Prove ihat parailelogram oin equal baces and having the saine Sa e o § 357 Ms e A s C"j 134 1 /_éfl: b

(or equal) altitude are equal in area. ALYy

220-09-5-44310



ik %4 | ﬁ §.5.C - (Part-D)-A- 2021 \\
5

Roll No. b/b}mgf‘ ( For all sessions ) [—;aper Code

Group-l» .
Mathematics (Seieoce Group)(Objective Type) RWP-41-2 | (&/)(..,:/J"’L«)d‘ L
15:/:‘.'

Marks: 15 Time: 20 Minutes 24203

,-{'va&(d_lz.uf ://,,Tf.,lzf‘ugéé,,nm,c.B,A.—,uz;GgLJ'm Z%Qb’dlﬁu:ﬂf'{dJaUﬁL:aUlr(l;’lq.b)
' -J,,/f,wyd’uﬁﬁu{(,;uwgutu,;uf_o | CBAszlL

on objective answer sheet provided. Four possible answers A,B,C & Dto

NOTE: Write answers to the questions
each question areé given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of
heet provided.

each question with Marker or pen ink on the answer S

1.4 HCFof x—2 and x* +x—6is ’ PSR (y'gbb’x2+x-6ufx—2u}’- 14

(A) x*+x—6 B) x+3 ©) x+2 Do) x—2
2 The square root of @t -2a+lis ) e Bk a® —2a+1 2
@) t(a+) @®) a+l ©) a-1 o *(a-1)
3. x =0is a solution of the inequality . -4.05(.23)’& ....... ehifx=0 3
A x>0 (B) 3x+5<0 (C) x+2<0 (D) x—2<0
4 Point (-3,-3) lies in quadrant . U LS (335 4
(A) 1 () 11 ) I D) v
5. Mid-point of the points (2,-2) and (2,2) is e PJ_V»K(Z.-Z)»I(-Z,Z)W? 5
(A) (2,2) (8) (0,0) (€ (-22) o
6. The right bisectors of the three sides of a triangle are : O S .J/td»ff,f,u'niu;:"é_-ﬂ,& 6
(A) congruent S (B) collinear BA X drtent J:‘i'(? (D) parallel /1%
7. The medians of triangle cut each other in the ratio __@% _ugz./ 6’@_—/& ..... s /».,944»,[,5-,15 7
(A) 2:1 (B) 3:1 () 4 (D) 1:1
8. Which is order of a square matrix? @ e K.,)wf/,g,?uw/ 8
(A) 2-by-2 (B) 1- ) (C) 2-by-1 (D) 3-by-2
2 2
9. Product of ¥ y]{_ ' ‘ Py [x y]{—l Sl 9
@ [2x+7] @ [x=27] @ [2:-7] o [x+2)]

10. Write 4% in exponential form. -é;é‘qﬂ(/tigﬁ;:;f 4% 10

) 42 8) V4 © & D) 4°

11. The value of i is: R A8
(A 1 ®) -1 (€ @ *

12. If @* =n, than ! ¥ ;7 T na* —nfl A2
(A) = Logx" B) *= Logy" © x= Loga" (D) a= Logn*

13, log(m")can be written as: -‘.—CC“."“’%Af ------ { log (m") A3
A (Logm)’ 8) mlogn () nlogm (o) Log(mn)

14. Conjugate of Surd a+ Jbis ’ ' e Jats€ a+t Jb A 14
&) —a+b ® a—b © Ja+b ©) va-b

15. What will be added to complete the square of9a’ —12ab? L/ (‘f’t_/Jwé{ 3 ke 9a’ —12ab 15
(A) —16b" ®) 16b° (C) —4b’ (@) 45

217-09-A-FCRH
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' ,, ' _ S5.5.C - (Part-I) -A-2021
Roll Na.~__.___ Sk ( For all sessions )

g ' Group-I—..«;f .
Mathgmatics (Science Group) (Essay Type) i I i 1)) (..r:fu""'lr) O‘ ‘L’
Marks: 60 Time:2:10 Hours & 2:10:% 60

- Section -I 2x18=36 Jilo
2. Write short answers of any six parts from the following. ~ 2x6=12 - /2felz L izigc bl Lt i
1 23 o1 0] 0 1.0 [t 23
i I‘fI_)'= -1 0 2 thenﬁndD+ 20 11 -(J_’/r}b’D*' 2 0 1 P -1 0 2 ﬁ.i
- 5 -10 _

ii. Is given matrix singular or non singular? D= 2 4 ?ut,ﬂ:‘_ut.gw_t, i
jii. Represent the given number on the number line —% —% a__i;zu;ciﬁé‘fvﬁ}:gﬁéé; i
iv. Evaluate /. S NS
v. Write into sum or difference. . log 25x i u:'{:d"JJ)gz_f.Lﬂﬁ v
vi. Express in ordinary notation. . 5. 06x10'° -u.‘iuiff}rla i

vii. Simplify: ( x +J— \/- J_ )(x+ V % S5 i
viii. Factorize: ..{:_.i:j f— viii
ix. Express the given Scrd in the simplest form: x° y7za -u"ﬂ S /'/‘-;;?‘4‘13’&5: x
3. Write short answers of any six parts from the @% 2x6=12 -U/Z fuatm/sﬁylzwaéfc_w‘bbu .

i. Find L.C.M. ' @ 02xy°z, 85x2yz,187xy2? g P i
ii. Solve for x. @ |x+2|—3=5—|x+2| -Jf:""-fd'ﬁ_l:v i
iii. Solve the inequality. 4x-103<21x-1.8 - Y PP
iv. Find the value of m a the following line by ' HLE Sy =mx+c fatat 5t v

expressing it in th y=mx+c 3x+y=1=0 ' -q/r}"‘,f‘chmm
v. Draw the grap of: y = 4x y = 4x s abls v
vi. Find the mid-point of the line segment joining the pomts A®2) . B(7,2) -q/}#ﬁ&wmﬂufguﬂd vi
vi. Define Right Triangle. -z;{_y 1 PEaLe i 56 Vil
viii. If A ABC =ALMN , then find the unknownx . - g8 x (#t3 AABC =ALMN /i vii
M L
ix. The given figure LMNP is a parallelogram o, N P MNP ix
P ; N
Find the value of m and n. F . y S dnsm
550
e
10
55°
L — Bman M

219-09-A- % - J
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4- Write short answers of any six parts from the following. 2x6=12 -y /feie L azige Mo Lt -4
i. In the given congruent triangles LMO and LNO 22+ 6 ‘ ui’LNOulLMOqu"‘L?'d: i
find the unknown x and m. " _2_§F}”AJPJ must X
M= o 1z N .

i If 13cm, 120m and 5cm are the lengths of a triangle, then Scmusi12eme13emuEy | w&w.c i i
vanfy that difference of musures of any two sides of a < /u)b’uz LJJ (S - u’fd

triangle is less than the measure of the third side. ' .arxf;dl.ld/ c“
ii. Define similar triangles. ' é&ftfuu’» & i
iv. Varify that the triangle having following measures of sides J;Zwubu'(f Lol el v
are right-angled. a=16cm , b=30cm , c=34cm e &l L S ST 4P
v. Find the value of xin the given figure. ey _J/r)"..a’ dx (Aﬁufj: v
6cm
vi. Define Triangular Region. X -eﬁ(_gf"@ujﬁ Vi
vii. Find the area of the given figure. -é!’t}z(fé{j: il
' 3cm
-
. __ . 6 cm .
viii. Construct A4BC in which mAB =3.2cm,mBC =42cm,mCA=52cm LU bABCEL: viii
ix. Define'centroid. N
Section -II 8x3=24 @u)
Note: Attempt three questions in all while Q:No.9 is compulsory: - Iy S fe il e Fnd
. {a) Solve the system of linear equation by using the matrix irg?if;ébtﬁsd -Q’fd’cud/u‘ﬁjﬁﬁux'ﬁ ) 5
;3x+2y=6
(b) Solve the equation for real X andJ . (3 2i = 2(x —2yi ) +2i-1  _gSSLY X fabe (L)
. (8.97yx(3.95)" Z
(a) Solve by the logarithm. O T 3fis3 _u'/g}’cu.g;(‘ g () 8
b Simo vat +2+\a* -2 Jat+2 ++ad* - 4{/‘; )
(b) Simplify: \/az+2_@ 72 Ao - -
. (@) Factorize: (x+1)(x+2)(x+3)(x+6)-3%" -q/di i 7
_ 53 3 §
() Simpity . ErxtFx+l X =x*+x-1 ‘é("; )
X
. (@) Solve the equation. gy | e P 2 ,(x#2) . S () B

(b) Construct AABC and draw perpendicular bisectors of its sides. -é‘/ S W e kABCEL: (o)
mAB =53cm,m/A=45",m£B =30°

Any point on the Right Bisector a line segment is equidistant from L is.s8hsdn Clay et L w855 (/1 9

its end points. OR : i -B'JIJJWU:V:.U:/

" Any poit on the Bisector of an angle is equidistant from its airms. -fn.lowld,l/c.u,,)I,Lwﬁ/;4...ilt£+:litfr
| 218-09-A- ’



* - 8.8.C - (Part-I)-A-2021

Roll No. P .;s}/lu_»i (For all sessions) PaperCode | 6 | 1 | 9 2
Group-II-..(:f .

Mathematics (Science Group) (Objective Type) Rwi-432-2| (u‘,/)(.,;fu""v)gf L

Marks: 15 Time: 20 Minutes &3 20:= 15/

Ay ez -uu.,ff.,mf‘ugéé,om,c,B.A.;glz;@t,&le,:e;e%s’qax&/ﬁsmpzﬁauww:.:.)

eSS Pode S LD L CB A szl
NOTE: Write answers to the questions on objective answer sheet provided. Pour possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

2 1 2 1
0 1], . .10 01 .
1.1. Order of transpose of g is: _4‘,.3/%,:,’!/& 3 3 N K
3-by-2 (B) 2-by-3 (C) 1-by-3 (D) 3-by-1
2o 200 '
2.1 0 +f2|iscalled matrix. . -‘gblgbf._js' ...... o 212
(A) zero S (B) unit &Lw mcalar K (D) singular ¢
3. Write z/; in an exponential form. @C@ -éfaufpﬁugf 1/; 3
(a) * ® x el O N
4. Which set have the closure property w.r.t addition? o @O ?q.J‘b(Jku.‘G&B&&rUf 4
: 1
{0} @ 0.1} %@% D) { 1’\/5"2'}
5. Loge=.......,where e~2.718. @ (ez2.718) =f{oge 5
(A) O 0.4343 @ (C) « (D) 1
6. 08y Xwill be equal to ‘ i A ¢, L08y X 6
ﬁogz d ' L'ng X eogz b4
(A) log,z 0g,z ) Log,y (D) log, x
7. (\/—5+\ﬁ)—)(\/;—\/3) is equal to: _:‘_/.l/.(\/;+‘/-b-)(‘/z_‘/_b_) 7
a—b B) a’+b’ € a*-b’ (D) a+b
8. Factors of a* —4b" are : S fr21lat - 4" B
(A) (a—b),(a+b),(a2+4b2) B) (a—2b),(a2+2b2)
©) (a=b),(a+b),(a*~4") e (o2 -2b%),(a” +20°)
9 HCEof a*—p*and g’ -b’is_____ P S— ,}’l,l‘b’ &-bsad-b 8
‘f{:-b (B) a+b ©) a*+ab+b’ _ D a* —ab+ b
10. LC.Mof 15x*,45xy and 30x)z is . s | ilols3 30Xz o 45xp,15%7 10
(A) 90xyz ) 90x%yz ) 15xyz ) 15x°yz 1
14, If X is no larger than 10, then__ . e Iedxe 1088 x A 11,
(A) x28 \erx<10 O x<10 @) x>10 |
12. 1f(x =1,y +1)=(0,0), then (x,»)is: -‘a/.l/.(x,y)?n(x—l,y+l)=(0,0)/7 .14
w(1,-1) ® (-11) © (L) \@ (-1-1) |
13. Distance between the points (1,0)and (0,1)is______. —emmm Jnudwb’(on)ulm,om} .13L
.
(A) 0 (B) 1 @2 (D) 2 )
14. The right bisectors of the three sides of a triangle are ' Y, ¢ B Jﬂtd;fécu'nlui:ﬁw A4
(A) congruent J‘b"‘ (B) collinear BA (Gy’ggncurrent .B'(? (D) p.ara||e| i
15. If two medians of a triangle are congruent then the triangle will be: e lbasiunS s »L&»‘A.—Qﬁ 18

(A) isosceles LGS (B) equilateral {Usuiil~ (C) right angled L1246 (D) acute angled ol
219-09-A-%-
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S.S.C - (Part-1)-A-2021

Roll No.__ Joim|  (Forall sessions)
(‘}rou%-fl-;(,
L Y N
Mathematics (Science Group) (Essay Type) (@4-1) (-;’/U' V) ‘j’ &‘
Marks: 60 Time:2:10 Hours & 2:10:% 60/
_ Section -1 2x18=36 Jilo
2. Write short answers of any six parts from the following.  2x6=12 -¢)}f':4|zﬁ"£.lzn.;=.éfe__¢‘}_5@, 2
i, Factorize: 12x* —36x+27 } éfd/ i
8 5|2 —
ii. Multiply the matrices. 6 4 2 -é:.‘i?}"‘)‘ bd 2 i
13 =% = -1 3
iii. Find the multiplicative inverse of:A= 2 ol _é_érr}”u;g",} V1 A= 2 0 il
iv. Eva|uate:("l')8 ('i)s -J_)’r}’”_—i iV
v. Simplify in the form @ +bi . (2-3i)( - ) _qffJfJ a+bi v

g X i
@@ -2_??)”.:2 v

viii. Reduce the rational expression to the lowest form. 3 -uj/Jj i(;f@}fg& J"t Vi
ix. Express the surd in the simplest form. W @% W -ufgu.‘.fd}/"?f ool ix
3. Write short answers of any six parts from the following. 2x6=12 -q&iaglzﬁ"'&lzggéfc,‘;qsw 3
i. Find L.C.M. , @ 25 85x%yz and187xyz’ -z_s-/ph'd;um; i

i Solve the equation. 2x—4—2 <& Vox—4-2= o-e_{d’fauv i

vi. Find the value of X .

vii, Calculate:

iil. Solve for X. \3—‘45—{ -% = -23— et i

iv. Determine the quad he given points. Q(—S,—Z), S (2,—6) -ég_{ui; K&;&di/éfbﬁéé) v

v. Find the value of m and c by expressing in the form Yy =mx+¢C -af?:"’c,fgfc/,lmulu_‘)}l&ﬁg}egf y=mx+C v

3x+y-1=0

vi. Find the mid-point of the line-segment joining the pair of points.A(9,2).8(7,2). _a_;?kfﬂ&t_mm.,w.w;ufuzz:m i

o Vi Find the distance between the poinis A(0,0) , B(O,-5). ) _2'_ kil nbeB Vi
Jii. ({APOR =AABC then. » 7 i x s APOR=AABC /i vi

X, x
Find x and V. AN
R sem F

-éﬁ'ﬂfﬂ; n® y°,x°,m° ix

219-09-A-¥% -
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4- Write short answers of any six paris from the following.  2x6=12 /el 1715 e Lt dits -4
om the following ; |

i. In congruent triangles LMO and LNO. Find X and m. 41X LLNOAILMOuEES = i

. _éﬁﬂlﬂg{ m
ii. What will be the angle for shortest distance from an L:{cy&fgcﬁ&;ﬁébuf i
outside point to the line. ST BT
iii. Define Congruent triangles. _e;{.gﬂfua‘qﬁ? il
iv. Verify that triangle having the following sides is right angled. q/&_ﬁ.u_?‘)_ 3(-,»ul_r’|_JJ Lol el v
a=5cm , b=12cm , c=13cm SR Y -
v. Find the value of xin the given figure. 13cm -é‘:)‘" A x 2GS v
5 2pp . .
vi. Define Altitude of height of a triangle. em _a_f:élﬂf Lol etz vi
vii. Find the area of given figure. ’ -é??:"‘};b’ffd) Vi
| |
16cm .
viii. Define ortho centre. 2 6% i
ix. Constructa A ABC in which mE =3.2cm, mBC =4.2cm,m 2em LU o ABC o5 ix
Section -II SXF%O (1
Note: Attempt three questions in all while Q:No.9 is co _:‘_dJUS/:;JlrﬁQ‘/Qf;gLeﬁaﬂlrch o
5. (a) Solve by using the Cramer's rule. 4x Bx-y=-1 _a;{}’c,ukfdiﬁé £/ () 5
@(216)% x(25)" _
(b) Simplify: O (0.04)% P ()
(438)*+0.056 2
6. (a) Use log tables to find alue of: (388)4 -é_,éU’c.quug(‘fb’) () 6
1 . 1 z
(b) 1 P = 2+ /3 then find the value of P~ e i P T P=2+ P
7. (a) Factorize: (x+1)(x+ 2)(Jc+3)(x+6)—3x2 —é_}{df- i 7
(b) Use division method to find the square root. x* =10x* +37x* —60x+36 -a:{(,bfc’;/h,;?r:” :gulg ()
X 2x
8. (a) Solve: -6 2- P #2 _&_'?U" () 8
(b) Construct A ABC and draw perpendicular bisector Lust L s lukf_',l:-.ABCéJ.‘r" )
of its sides. mBC =2.9cm,m/A=30°,m<B = 60° L
9. Prove that any point on the right bisector of a line segment is u}xdl:{..&'td)/éb;k;d( I»‘-.Qf 1S g_-z.k- 9
equidistant from its end points. OR L Bkl lae U L ot
Prove that any point on the bisector of an angle is cus,;géum’..gﬁ.ytl.é_:uﬂ c:,{:rt-
equidistant from its arms. B Lol

220-09-A-
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ﬁ S.5.C - (Part-I)-A- 2019 FU"\’ \/)- L, K “1—) b)

RollNo.. St (For all sessions) paperCode | 6 | 1 {9 |1

¢ . Group-I- :}’ . "
Mathematics (Science Group)(Objective Type) ¥ (u':/’)(..(:/u" V)(,f .L'J
Marks: 15 Time: 20 Minutes & 20 1% 15,7

Aty dedins -_-/u.,ﬂf.,tz‘,ﬂ.ugéé__,om.c,B,A.-,yz.-f/gf_dlme:%b’w F I bzl e nrpineg

e Gl e e SUHED L CBA el
NOTE: Write answers to the guestions on objective answer sheet provided. Four possible answers A.B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

2 1 2 1

1.1. Order of transpose of 0 is: -c‘:.qnb’._)b"}f;'llx‘é 2 12 R
(A) 3-by-2 (B) 2-by-3 (C) 1-by-3 (D) 3-by-1

2. Every real number is a: . R / ﬁ’} 2
(A) positive integer mél.-é.__f' (B) rational number wPtL
(C) negative integer wé‘gj" il (D) complex number /JE-:‘I oy

3. Base of natural Logarithm is: ~‘¢JV'J(2;("315 3
(A) e B) 1 () 2 (D) 10

4. (\/;4—\/;)(\/5—\/5)-,5 equal to: -{__/.f/.(‘[‘;""/—l;)(‘/z—‘/g) 4
() @’ +b° @) o' -b’ (€ a-b @Q (o) a+b

&

5. The Factors of a' —4b" are: & {& g dronlat—4bt 5
(A (a—b),(a+h),(a2 +4b%) @%az-%’),(azﬂbz)

©) (a—b),(a+b),(az—4b2) @ (D) (a-2b),(uz+2h2)
6. LCMofl5x®, 45x) and30%)Zis__o .Q s B Fisboins¢ 30xyz i 45xy 15x° 6

() 90xyz 8). 0 () 150z (o) 15x°yz

7 If the capacity "C" of an 1r‘?\. is at most 1600 pounds, then: :?x;-;geoo,,g;.—.,,g;'-c",wa.i..w,u,J_»,v.{: 7
(A) C<1600 @ (21600 ) C<1600 (D) C>1600

8. Point (2,-3) lies in quadrant. -{_u‘-'&ﬁd’;’ (2 ,-3).53 8
(A) I (8) 1 () 11 (D) IV

9. Mid-point of the points (2,2) and (0,0) is: 2 e .l.ﬁdwv(z,z)m(o,om? 9
(A (1,1) (8) (1,0) (C) (0.1 (D) (-1,-1)

10. In a triangle, there can beonly _____right angle. -c__CCﬁ,,!JJE ...... _;'/u-‘-.:.lﬁ'\f( 10
(A) 1 (B) 2 (€ 3 (D) 4

11. Median of a triangle are: —gplng sl el A1
(A) concurrent .b'»(‘ (B) equal «l« (C) congruent S (D) paralle! g

12. Any point on the bisector of an angle is from its arms.  -&-Ee—amm c__ui:);LJLEﬁ/;/,JtLA,,UJ( A2
(A) concurrent ik (B) equal x4 (C) parallel S (D) equdistant S

13. Congurent triangles are: . -ugdnu:“w Ju 13
(A) different i (B) parallel S (C) similar L& (D) concurrent Bk

14. Congruent figures have _area IS {1 7L S— 4 .’;,J(,leﬂ;ﬁ 14
(A) same 44 (B) congruent J‘u" (C) different ¥ (D) non-congruent J*L?ﬁ.;

15. If three altitudes of a triangle are congruent, then the triangle is -u(yr ..... wa,?uxji“»fuiff.&.{lﬁ 15

- -

(A) right angled /240 (B) equilateral Lusugsls (C) isosceles aé'uw',s;- (D) acute angled *7"b

mnam AO A SY



S.5.C - (Part-I) -A-2019

w()/(/”’c"/ﬁ

60: /'.'.

Vi

Vi

.|Roll No._____ e St (For all sessions)
.
Mathematics (Science Group) (Essay(';l';g:;)-lv’/ (@4-1) (..;ufux L) u‘ L‘
Marks: 60 Time:2:10 Hours & 2:10:=%
Section -I 2x18=36 Jil»
2. Write short answers of any six parts from the following. 2x6=12 -7/l li/’Zy'?'i:,J:fr_utJ:Lu
i. Define scalar matrix. S /U.')G‘).‘C ;
- 4
ii. Find the product of: [ 2][0} el
iii. Define the set of whole numbers. JI quL,wM i
iv. Express the following decimal in the form of f where: P-4.€ Z S SE g‘,@cd/l‘/ld_’sbu i
and ¢#0 . 03=0333.... 03=0333........ q#0,P.9:€2: 5
v. Define common Logarithm. -égg:-é’/U(-‘)f:‘(k .
vi. Find the value of Xif: fog 64 =2 /ﬂé.f?}”.-.f S x
vii. Define Rational Expression. ©<i® -u_/..gﬂf,b?&"’t
viii. Find the value of("2 +b’ ) i a+b= l% b=6 :ﬁg}#.;é g (az +b2)
ix. Factorize: r +12 -4:53/- |
3. Write short answers of any six parts ollowing. 2x6=12 _g}_’&faw/‘?&ﬂz!{cﬁfagﬂdib];
i. Use factorization to find the squar, $0 4x? -12xy + 9y’ _élib’d /r,;_,df_-,:u,’c_. :
ii. Define radical equation. -’c_,{_,_aj /U.-,lsvd/jg
iii. Solve: P3x—5|=4 -q_{d’
iv. Find the value of 7 and ¢ of the equation 2x =y =7 by AeLy=mx+cf 2x—y=T cbi-dns |
expressing it in the form V= mx+c d_-f(}".;-fgf comoli S

v. Define origin.

vi. Find the distance between the given points. A(9,2) , B(7,2)
vii. Find the mid--point between pairs of points. A(6,6) , B(4,-2)
viii. State S.A.S postulate.

ix. Define parallelogram.

(e

el B s
-z:.,{(ﬁ'ﬁ;}y»m,ﬁzém
-’:,_?Z; LEss2E Pl S
S

P iy Gl wolie VO W iyl @nigies «-—‘_' T A e Ny e 4
(A) 2 (B) 3 (C) 4 o) - .
1A In 2 narallalnAaram nnnncite an~ag arg e eSSt ysi i 15

WV

Vi

Vi

Vit

!

iX



14. In any triangle there can be right angles

E"CP’ Gi-9+19

4- Write short answers of any six parts from the following. 2x6=12 _q/_/i.-.yzf’?é,lzlgc.éf;.g;‘,bau -4

i. Define Bisector of a line segment. -J/.u /U.wt‘..b.ag .
ii. 3cm,4cm and 7cm are not lengths of the triangle. Give reason. - fuu.wwv.ub LJJ &l Jf 7cmusl4eme3em i

iii. InALMN MN/IPQ tmsM =5cm, mZP 2.5¢m. méO 23em  cmsM =5cm /r_ MN//PQ%LMN A5

then find /N . !rméQ-2.3cm “mZP =2.5cm
S W L8 msN
iv. State Pythagoras theorem. St e

v. Find x in the given figure. - x ’ i V2em —;{/?'J”xuf;}ﬁfd) :

vi. Define area of a figure. - S /"'d/,}'/bff
vii. Find the area of given figure. -;_{f()’”.};(fﬁf:
e
viii. Constructa A XYZ , in which: mZX =6.4cm , mYZ = 2.4¢m . mZY = 90° AL BXYZ L
ix. Define concurrent line. Sy AT
Section -II @ (222

Note: Attempt three questions in all while Q:No.9 is compulsory: 8x3=

5. (a) Solve by using matrix inversion method.

Vi

Vi
Viii
X

i ,-,Uu«.,éq)}foyzéommf‘f 0%
-éf‘/d'c_u‘!d,g’éu;.)(? (@) 5

(b) Simplify: -::,{/‘-; (_.«)
S(@38) x/0.056 )
6. (a) Use Log table to find the value of: A (388)' -4;)":47:_);&,':4({5',’ () 6
(b) Find the value of X — )" it X-y=4, xp=21 Agfobecd S =9 (L)
7. (a) Factorize by factor theorem. B0’ -yl -affj Feulsie () 7

(b) Find H.C.F by division method: X x' -2+ x-3, 55 ¥35% - 17x+6 _qé;k’(?;u,}f;’lgb ()

8. (a) Solve and check for extraneous solution. Nx+7 + Jx+2 = V6x+13 =01 /«JC‘ZJJ"GUW%{J:&A;V () 8

(b) Construct AAB(', and draw the bisectors of its angles. _g L Uil s 2 b ABC 2 ()
mAB =3.6cm , mBC =4, 2em , m4LB =75°
9. Prove that any point on the right bisector of a line segment is Ai.xb’ﬂumdi:,;wcd,-féﬁaﬁu’r J;i’.._ﬁfl%:v,t‘
equidistant from its points. OR L Bl Wi sl
Prove that triangles on equal bases and of equal altitudes _d’ux.:'/.J.}'mun/.u&u'uw.«._xG"‘;o’w:‘f/ ﬁ‘.'f,:/’.-f.t‘

are equal in area.
218-09-A-

(A) 2 (B) 3 (C) 4 (D) 1 .
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b2 * S.8.C - (Part-I)-A- 2019 &u} P~ &2, = (7 -1

lEo. (Rt Lot (For all sessions) PaperCode | 56 | 1 | 9 | 4

Group-II- ..f:/

*
Mathematics (Science Group) (Objective Type) (u"':/')(..,,fu*'v)(f &J
Marks: 15 ' Time: 20 Minutes & 20:=3 153ﬁ$

A §Edize -.».mg/.,'zu’-q,z_:éé,nuuc.B.A:,grz;ﬁgédlme:‘éqquzg";/q,’fd,.:,guzé.:.wr,»t?:..‘,)

S S Sep N e LusihlD L CBAsz&lLL
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A.B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

1.1. The right bisectors of the sides of an acute triangle intersect -ujé‘_/ d’;.----f; /::.ﬁdﬂtd)}fé&wléz;uub i
each other_____ '
(A) outside the triangle ;L 2t (B) on hypotenuse 4}:
(C) onbase  ;osb (D) inside the triangle .41l &l

2. One and only one line can be drawn through points. -‘Lﬁggﬂs.g_i/uuﬂ;u.'m ...... 2
(A) one i (B) two = (C) three & (D) fout

3. The set of all the points of cartesian plane enclosed by the triangle is called: < Fldusit el ;Z.:.:(btifﬁd_lédi—" 3
(A) interior of triangle  <s.s1K& L : (B) exterior of triangle  <s (&>
(C) congruent triangle L5 fl (D) Right angled trian J{?);lﬂl:x’ﬁ‘

4. A quadrilateral having each angle equal to 90° is called: @ -‘4.(311;5,:900,:!}/;(&»&,.{! 4

(A) Parallelogram { 1=11$,i# (B) Rectangle J-?:/ (C) Trape&i@%i (D) Rhombus u‘f'

2 1 @% 2 1
5. Order of transpose of ] is: . @jz -9.,;/:5’_.)6‘):;"!}& 0 1 A5
3 2 3 2
(A) 3-by-2 (B) 2-by-3 © (C) 1-by-3 (D) 3-by-1
6. In35 the redicand is: l-q_;;gglu:éh_s 6
(A) 3 (B) 3 (C) 35 (D) 35
7. The logarithm of any number to itself as base is: o -& rn..,lz?m,wduwgfﬁb’ﬂému’% 7
(A) 1 (B) 0 (C) -1 ‘ (D) 10
8. 4x+3y-2isanalgebraic - S—— gALidx+3y-2 g
(A) expression M (B) sentence a}’ (C). -equation “=hl~ (D) inequation _"«l}l/ﬁf
9. The factors of X' =5X+6 are: Y AY A . x'=5x+6 g
A) x—Lx—-6 (B) Xx—2,x-3 ©€) x+6,x-1 () *+2,x+3
10. HCFof a*—b" and @’ —b’is: il ek @ —b* sl a® b 10
(A) a—-b (B) a+b (C) a*+ab+b’ (D) a’—ab+b’

11. If the capacity "C" of an elevator is at most 1600 pounds, then J’ni‘ﬁg1GOOs)LJc_o:LJ"C":I»HJLW‘{;:JJ.{! A1

(A) C<1600 8) 021600 () 0<1600 (D) C>1600

12, 11(x, 0)=(0.%) then (%.7)is equalto: -gzlz(x’y)?x(x’ 0)=(0,5) /i 12
) (0.1) @ (1.0) ) (0,0) o (L1)

13. Distance between the points (1,0) and (0,1)is: -.at'nJJG&gwb’(OJ) #(1,0) 55 13
(A) 0 (8 1 © V2 . (D) 2 )

f
-

14 In anyv triannla thara ran ha rinht annlse o et L a2 s [S ¢ 14

1



(ﬁ . ’
_ _4_4../4)‘?/'»_/1

Group-1l-&

Mathematics (ScienceGroup) (Essay Type)

Marks: 60
section -1 2x18=36
2. Write short answers of any six parts from the following.

i. Define diagonal matrix.
ii. Find 2A, if.

iii. Define set of integers.

§.8.C - (Part-I) -A-2019

(For all sessions)

Time:2:10 Hours 5 9.10:m

E\*:Pv g\'z'o\’jﬂ-

(LN (V) eY
60: /7

Jilo
2x6=12 _‘_;fgf_-,uz/""&lzuga.éfc_‘;J_sz-,» 2
-u:/f.i;’]-’\;.f)gs}’ A
1 2
1} S i
-Q/.@/'J;g&wé‘ i

3 = D
iv. Simplify the given radical expression. 5 55 _géi,tit;f(kfuﬂﬁé /d:;’: iV
v. Find the value of X from the given equation. logy9 =X :/’lé(()".-/f&/ x u:;wf S
22 22 r wl 3 s 1 .
vi. A=mr’ find A, where 7 =" andr=15. 4 =—7ulr =15 By /pPeil Adw A=7r PORY
vii, Define Surd. Q@ S f i i
. 8x" - @ /(‘_"
viii. Factorize: AT
RS
ix. Factorize: %y +16+40x _z;-/d f- ix
3. Write short answers of any SiX parts f: @, ollowing.  2x6=12 N/, i:,gszﬁ”é,tzsi,;,éf;,‘;dsa» 3

. Find H.C.F of O 39x"y'z L 91’7’ Nl a
ii. Define radical equation. -J J /"Lf.-,bvdu'q A
iii. Solve the given equati 12{ ~ %—2- = 23 _e_{‘,”fabvf S il
iv. Define ordered pair. -.J_/_Jy /'-&.Jﬁ_;/ WV
v. Find the value of mand € of the following equations L/ﬁ\SJZ y=mx+¢ )’:A,\/Jj s N

by expressing it in the form of V' = mx+c. 2x+3v-1=0 e;{(}"‘_-,af cam

vi. Find the distance petween the points.

A(0,0) . B(0-5)

-u:f()")—’ﬁuynf.b@ A

vii. Find the mid point of the line segment by joining the given pair of poinxs,A(A,Q),B(A -3) -e_{r)*"ﬁ[}ynb’blﬁéé» !

viii. State H.S postulate.

«_ Find the unknown £,y m’and 20 in the given figure.
Yy

-a_,{ul_u:}/u.’.’ ;
..J;):’PJ'J;’J n’ sim’ Yo ex’ ()"tiﬂf\'fd’




Qup-Ge-"

4- Write short answers of any six parts from the following. 2x6=12 Jﬁ/ut‘i/&f'?'l&dfbgﬂg} Sl -4

i Define bisection of an angle.

i NAABC . msB =10 and m/C =45"

triangle is the longest and which is the shortest.

iii. Define proportion.

iv. Find the value of X in the given figure.

v. State converse of Pythagoras theorem.

vi. Define altitude of a triangle.

vii. Find the area of given figure.

viii. Define circumcentre of a triangle.

ix. Construct 2 AABC . in which:

Section -1I
Note: Attempt three questions in all while

5. (a) Solve the given system of linear

(b) Simplify:

6. (a) Use Log tableto find the value

3 k)
(b) Find the value of X —

7. (@) Factorize:

(b) Simplify:

8. (a) Solve:

"/J}’J.V"J.:b i

which of the side of the % mZC =45 ##m£B = 200 fiEABCEE: i

vt r ,C,u/:,./u.éud‘wh

i I fEE i
5cm 13cm -\J;/r()h’sugxbfgd) v
g 0 -z:_?-(ul_f.;/iié)’/f R

g S fELEaL s N
_u:/((}"’.;’-l‘f{d} il

1N

16cm

S Il N

mAB =3cm , mAC =3.2cm , mLA= 45° LSk ABC 28 ix

3x-2y=-6 ;

\b x(25)

Q ”,.J’

Q:No.9 is compulsory: 8x3- %l Jlrfu‘ )’//vl,liﬁuvinﬂd/ wtid

equations by Cramer's NI@O LJ;’!,VJ:"/C'/IG:A.JLJIGL A J () 5
5

Jf(?’u"J y ;,IX_-,I/"’V.‘_J_?

i@

s e
0@9 (0.04) % 2
0.8176x13.64 _preienblaft (I 8
x-y=4.,xy=21 ;,cd,rry&gg.x’-y’ ()
81" +60x” +150x+125 _AsF (N T
x+’% 1 4_)_c—_’ 4{"
7 $9x+9 2(2x 3) 4x* -9 &5 ()

‘_(x_l)+,2.=_5.+,‘_£ _3x) .
AE=553 6 82 MM COE

(b) Construct APQR , Draw its altitudes. m PO = 6cm,, mOR = 4.5¢cm, mPR = 5.5cm #2560/ APOR ()

4 Prove that the right bisectors of the sides ofa

triangle are concurrent

OR

Prove that triangles on the same base and of the

same(i.e equal) altituded are

equal in area
220-09-A-
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L0\ —— (For all sessions) | PaparCoda |8 J 1) 9 ) 7|

Mathematics (Science Group)(Objective Type) Group-I- _,,/ (& /‘)(..Afu"' l/)d’ L

Marks: 15 Time: 20 Minutes & 20 123 15/

/.JVJ'{Q(JJ:?: X '.-//)._.«7[_,’.5‘)) cC;... JDJ:I,C,B,A.:.Ui,(m..utr/c;‘.’/qKdlip“/’{u)_.w’._.—mrﬂ/ <y
. ‘ _J)/cgﬁbJJL/(L:(‘_, 'J,.Ab’c_—u-d:/bf.o { CB A&l
NOTE: Write answers to the questions on‘pbjective answer sheet provided. Four possible answers A ,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answe sheet provided.

1.1. Factors of 3x’ —x—2 are , S PIZIL 33X = x =2 11
) (x+1).(3x-2) @) (x+1).(3x+R) ©) (x-1).(3x-2) @) (x-1).(3x+2)

1 b ] h.f i hd Rl
2 HCFofa'—band a' —b' is: L hkba —b ma’-b" 2

(A) a—b (B) a+b ©) & +ab+b’ ) a —ab+b’
3. X =0is a solution of inequality. -.T.J:K.'{J’[_;f:v,:f x=0 3
(A) x>0 (8) 3x+5<0 x-2<0 (o) ¥+2<0

4 Point (—3.-3) lies in quadrant --f—-gﬂ@/f—df"(“l‘})ﬁ 4

(A) 1 (B) 11 (C) I (D) IV
5. A triangle having all the sides equal is called: -;Jﬂifux/,vul;u.fc WGl el Ll 5

(A) isosceles Ju'd,v (B) equilateral {usvigsL~ (C) scaleRe (,LL‘UIJ»” D), right angled triangle &t sl /=46
-u's..:’s/u_ ..... .f .6

6. A has two end points.
(A) line k5 (B) line segment .8 (C) ray

7 Dis the figure of

(A) parallalogram Cuengii (B) square (‘}/

(D) plane

(D) trepezium s

- —_— - >
8 lf( *[)is right bisector of line segment AB then m ...... il $oFE AR Bk CD/' 8

o i??“

N
(A) mBO (B) mOQ (€) mOA (D) mOB
3. Three non-colinear points determine a S BL IS 9
(A) ray (& (B) line s (C) line segment .k D) plane {5
10. Unit of area is: -_Ldb’vu(.}/ 10
(A) m? 8 m? () m
11. The medians of a triangle cut each other in the ratio _@L/d”ui;.ﬂf_-- -fc_/».._f'c_‘_.tk»:z:.‘,ﬁ- k|
(ar 4 -1 (8) 3:1 (C) 2:1
NI 20
12 0 2 is called matrix. P[0 (G 0o 2 12
(A) zero (B) scalar A (C) unitary Jlm (D) e
13, 1n Y35 the radicand is: - Y32 V35 43
| 35
(A) 3 B 3 (C) 35 0 3
14. The logarithm of unity to any base is . s e 14
(A) 1 (B) 10 (C) e (D) O
/ b |
15. (3‘”/5)\3“/3)?5 equal to: _?,;s/,(”" \5) 15
(A) 7 (B) -7 (C) -1 (D) 1

217-09-A-WH W W ’e‘VP— -8




SS.C-(PartI) -A-2018

toll No._ , e Sobmar (For all sessions)
L ]
Vlathematics (Science Group) (Essay Type) Group-l--,«’f (;L*Ja)(.r,/u"v) Lf LJ
larks: 60 Time:2:10 Hours gl:lﬂ:c:’) 60:/'.;
Section -I 2x18=36 Jil»
2. Write short answers of any six parts from the following. 2x6=12 ,q/;f'.;yz/"’l.lzlgc_dfatﬁdj s 2
i. Define rectangular matrix. -1:_,,{_@/7‘,(_/6 oﬁ"’y g
3 0} 6
i Find AB, if 4 =[_] 2]-3 =[5} S i S AB i
i Simplify (2x'y )(:’”""y é(/'f i

-é(/;;d:f\;‘l+bi v

. Simplify in the form of @+ b1 (J§ -3i

v. Find the value of X when: (ogix =4 @<i® i
<&

@ ed

vi. Express in ordinary notation.

vii. Reduce to the lowest form: -.’:;’ou:fd_}/"} il
viit - Simplify \/—3-) éﬁ" viii
ix. Factorize: X’ —1lx-42 -4{5/‘- ix

3. Write short answers of any six parts from e following. 2x6=12 -Q’)}fa@'ﬁfyéflzl{c.cjfcufd_}@» 3
_4{.;;//7&};!.31&',-5 i
Y3xas = Yx2l S i

i. Define L.C.M.

il. Solve the equation”

. Solve the equation for".x |3x—5’ . -g'__{-;)"_-,f\,( i
~ -
iv. Define origin ) -a_,-‘-..g/’Ju,/ iv 7.
v. Plot on thg’graph paper. P(0,6),Q(3,0) -é,(qw{?ﬁ..}l/’ v (
\
vi. Write distance formula. -'4‘,‘6.1/,6{.1»45 vi ,
vii. Find mid point of line segment of these points. A(-8,1),B(6.1) -2_-;:“’5?&5/»(5;5;_2_.1&:@5@ vii 8. (
viii. YWhat is meant by 4.5.4.= A.5.4? ‘e U ¥ AS A= AS.A vii

ix. Find m/ L in given figure !il -.:_.44” msLL ufl}c(_')fd: ix 9
//% L"M Rub-9.)-18



4- Write short answers of any six parts from the following.

i. Draw a diagram if any point in the bisector of an angle is
equidistant from its arms.
ii. What is meant by scalane triangle? Draw its figure.

ii. What is meant by proportion?
. i mAE =32cm . mAD = 2.4cmand mBC = 4.8cm,

find mAB -

v. Define ratio.

vi. Define the altitude of parallelogram.

vii. Define circumcentre of a triangle.

 viii. Find the value of X in the given figure. e

ol [l N\,

6212 g ez L ag e M itits -4
Ldlﬁuﬁ//-ﬂlfr‘_:bfféwc_—gf’ i
-.;.t'r,L‘b»"d:l/c.. Uil
LSS e L b S i
el We ort i
S mAE =32em . mAD = 2.4cm A v
~4:F"” mﬁ- I mEE =4.8cm

D E
Y
8 c
S 1
A é:_f—f.&{ﬁJLﬁLfL{,MUﬂ? i
-gf_g/%(fn/vé.;t«/ vii
13em -41(4”.:.20(1‘ S FTS i

X
ix. Construct a AABC, in which:
Section -II

O 5cm

r».JD
b oG8 AU By S feln L c i S i
-ai(Jc)Ab(uiEL/:/Cfu?l:vad: (J‘) .5

216)/ 25) %

(b) Simplify:
6. (@) Use Log table to find the value of:

(b) Find the value of ab+bc+ca it

{a) Factorize

'b) Find the square root by division mefhod:

(0.04) %

@ (D)

3 0.7214%x20.37

@b ci=45 ga+b+e=-]
8y’ — 1253 —60x7y +150xy°

4425x° —12x—24x" +16x"

60.8 i el 8 () 6

f'u:/(""':»‘.;u( ab+hctca ()
g F (N T
Lt ()

5(x~3)
.a) Find the solution set of given gquation: e X = l‘z)' _‘_[/()”;{JKQI;VJJ) () .8
(b) Construct the A_4B( .Draw/the perpendicular Ll e tABCEL (&)
bisectors of its sides. mAB=24cm . mAC=32em , mZA=120° -u:i.{,&/td»f
Prove that the bisectors of the angles of a triangle are concurrent. _u_ri.ﬁ.bﬁ(?_jﬂ tL u.g.-uuif& :,;def_/b 9
OR L
Prove that triangles on the same bases and of the same J’J/»U;’/l/ulnul£umu~’f}- ~_fiu'l" o Qf;f &

altitudes are equal in area.
218-09-A-
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IROIINO- _______________ 5/21}11!1»_’;4' (For a" sessions) [ raper voae l ) l ' l 2 1 ol

&
Mathematics (Science Group) (Objective Type) Group-Il- —,A/( (Lf:/’)(.r:/u;' l/)u‘ LJ
Marks: 15 Time: 20 Minutes & 20:=% 154
Aty §8d2 e eon Y2 L&D CB AR L s AT (AP YAeog O,
-\_[J/c..d_bu{ufrlﬁlfc./'bjb?cgﬂUJ/'I:LD . CBA sze vl
NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B.C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on theXanswer sheet provided.
12
sl Adj [0 _,J |

1 2
-1 =2 -1 0
© (o 1 ) |2 1

1.1. Adjoint of [0 —l} is equal to:
e 2P 2ab(i+i") AL 2

-1 2 1
Ao - ® {o

2. Realpartof 2ab(i+i") is:

(A) —2ab (B) 2abi (C) 2ab (0) —2abi

3 (0gx (08 can be written as -é.Cclguﬂf ______ J Cogy x tog, 3
() (og, (®) (og, (©) Clog, © fog!

4. (\/;*”\/5)(\/;'\/}_’) is equal to: _4_,_1,_(\/54»\/1;)(\[(—1—\/3) 4
(A) a+b 8) a-b a’ +bY a’ -b’

5. Factors of 3X —X—2 are:

(A) ("'_])(3’\‘*"2) (B) (-\'+1)(3.\‘+2)

(D)
N <i®-d."t}/"’;l21£ 3 -x-2 5

(x+l r@@ (D) (x-1)(3x-2)

6. HCFof x’=5x+6 and x" ~x—6is______ S Fk P —x =637 ~5x+6 6
g B) x-2 @% @) x-3
7. - is a solution of the inequality -2 ‘é@- AW Liger S -2<x< .2- Y. X= ;
2 cx< 3
W ) © 3 ® 3

8. 1f(x.0)= (0-)’). then (%:)is equal to: -q_/.’/.("'- y);,,(x‘ 0)= (0.y) /i 8

@) (0.1) @ (1,0) ) (0,0) o) (L1)

9. Distance between the points (1.0) and (0,1)is : e ) el (0.1) 01 (1,0) 56 9
(A) V2 (B) 2 (C) 1 L Do

10. The symbol for line segment is: -g&ndb’lymiﬁuﬁ; 10
() —> | © “ 1

11. A parallelogram has congruent. - J‘\L?‘/?l_.._}:{,u.'ould;!?.,_ﬁ A1
(A) oppositesides { LsLJ¥ (B) opposite angleses;3¢ (C) diagonal (D) \Both A & B s

12. The bisectors of the angles of a triangle are ) Y, 220 - v L gg,lju;:'[.:,ﬁ-uj 12
(A) parallel  SJi# (B) concurrent D'(? (C) equal s« (D) congruent J‘LF‘

13. Equality between two ratios is called: -ujif&wz sl s 13
(A) proportional -t (B) ratic = (C) congruent i (D) equali\fx Sl

14. Area of given figure is ) * ) TS, T _.Lb’ft,'srd) 14
(A) 5cm? (B) 10cm? (C) 25cm? . (D) 20cm?

15. The medians of a triangle cut each other in ratio_____ -u_TL/’Cf; B S /:;.._Clq;w;[.:.«l?- 15
(A)1:3 (B) 21 (C) 1:4 (D) 1:1 1

219-09-A- % kN P G=2 - ¢ \\
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ROll NO. — :...&J},';gi

Mathematics (Scien

S8.5.C - (Part-1) -A-2018

(For all sessions)

Group) (Essay Type) Group-l]—.;;f (=2 15’)(7!/0'." 1) d' LJ

Marks: 60 Time:2:10 Hours &4 2:10:=% 60:/:}
Section - 2x18=36 JBL.-‘O
2. Write short answers of any six partg from the following. 2x6=12 -q)}/’.;glzﬁﬁ,lzrgaéfawdja» B

Vi

Vil

viii,

1.

VI

Vil,

i. Define Diagonal matrix with an example.

-1 2
i 11 =[ 7 J, then find 2A matrix.

Simplify:

. Find the value of X and ¥ , if:

Find (og, . iefind (og of 2 to the base 4.

Find the value of x.

Simplify:

Factorize:

. Factorize:

Write short answers of any six parts from

_ Find the least common multiple.(L.C

ii. Solve the equation:

Find the solution set of:

iv. What is meant by Cartesian plane?

Find the value of m and ¢ of equation 3x + 21 =1 =0 by Loy =mx+cd 3x o+ 2)

expressing it in the form of V = MX+ ¢,

. Define the square and also draw its figure.
Write short answers of any six parts from the following. 2x6=12 _J);/.,Ui/";‘:fl]’ic_d/c.u’J;L» -4

- What is meant by ratio?
i. Define triangle.
i. Define rectangular area.

_ﬁ)dlﬁ‘ung"d_g/hé’fg{b')@d}x A

-1 2
T AP Y (ra { 5 1A
Jtexty’ i

x+iy+1=4-3i :/""V_r,?,b'_—,sz.V/,l-" v

_a}’fl:}‘”_wf&logf v
togy™ = x AT NS
& i
U SSE i

- f/df iX
u;/"[.,u 7 cdfc..gﬂ J’ s 3

3y

@g 5x* +16+40x
wmg 2x6=12 7

39,\'7_1.’:‘: 2 9lx*yes’ _k[/r,lrgﬁgw,-s i
Jx-3=7=0 et i

| p

E|3x+2|—4=ll _%,Lv;{‘f i
)’/lr‘/c..\ff“"'gf::t( v
== 0t v

e comaid

Define the co-ordinate Geometry. _V,J.Q/U~ Vi
Find the mid-point of the line segment joining the w(‘fﬁ.bé,uﬁ_}zéb 'é'fé.: _Qii
pair of given points. A(3,-11),B(3.-4) = , '

ii. What is meant by congruency of triangle? Ve ol e bl viii

.'". SFSsus r/__,;;/-’d/z"-

‘C_. :‘/‘«(c_'..»’ ]

i
R Rwp-Gong



iv. Find the area of given figure. -.':;{p‘”__LKJﬁf v

Jecm
6cm - & il ‘
v. Define congruent triangles. Ay St v
vi. Verifythatthe trianlge is right-angledtriangle: a=5m , b=12cm ,c=13cm _ . ﬁ@&,ﬁj_/&ﬁ Vi
vii. Find the value of X LI X i
10cm
Gcm
X
viii. Construct triangle ABC in which: msB=60° . mBC =3Tcm / mAB=48cm SJ &b AABC &L Vi

ix. Define equilataral triangle. ,q/_@ﬂfuiclwznd,ﬁ/ ix

Section -1I
Note: Attempt three questions in all while Q:No.9 is compylsory: 8x3=24 J'xﬁdf f._,tiiéuulru.’;){ 2

4x+2y=8 ;O/\@Q—] _éléz)’c_u&j;c"ﬁux’b’ () .5

(2165 (25" |
\Vo RY w7 (L)
(438)" 1/0.056
(388)°

5. (a) Solve by the matrix inverse method.

(b) Simptify.

_etbede et () 6

(a) Use the log table to find the value of:

1

/ D
(b) 1t X~ =4 then find the value'of /"5 N 3 e L e P (9)

3x? - 38xy =133 g (N 7

7. (@) Factorize:

(b) Use division method to find the squdre root of the expression Ox' - 6x" + Tl =2x+] -4:,('}"&;;'4 e ¥ 2 (..«)

8. (a) Find the solution set of the equation: l3 A 2x| T l()x =7 _a»/(;b‘_*,_»d’b’;bl/ () 8
-
their medians. -a:"f:_;w,,z:uu,-vz_.t;.XYzw (57/)

(b) Construct A X}Z anddra

mXY = 4.5cm.mYZ =3. dem. mZX = 5.6cm

Prove that the bisectors of the' angles of a triangle are concurent. -u'_.‘L:f,b;'ﬁ..iﬂL'[_ ug:wu:‘f[..s,ii‘f ;" .::,{:/b
OR l

Prove that the triangles on equal bases and of equal altitudes are Sdmssatsl e 46 Uz Lflfu S

- J Usisis

equal in area,

220-09-A- ,Qw Pea—p



